Genetics Fill-in Notes
6.5 Traits and Probability
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1. Key Concept: The inheritance of traits follows the

2. Key Concept

;. Vocabulary

3. How can heredity be calculated using probability?

The coins are
equally likely
to land heads
up or tails up.

Two sides
of coin 1

Two sides
of coin 2

e

rules of

2. Vocabulary

Punnett Square — model for predicting all possible
genotypes resulting from a cross, or mating
Monohybrid Cross — cross, or mating, between
organisms that involves only one pair of
contrasting traits

Testcross — cross between an organism with an
unknown genotype and an organism with a
recessive phenotype

Dihybrid Cross — cross, or mating, between
organisms involving two pairs of contrasting traits.
Law of independent assortment — Mendel’s
second law, stating that allele pairs separate from

on another during gamete formation
Probability — likelihood that a particular event will
happen

3. Heredity patterns can be calculated with

Probability is the that
something will happen.

Probability predicts an

of , not
an number of occurrences.
Probability applies to events
such as and

Probability can also be shown as a
(25%) oras a

(1HH:2HT:1TT)

The probability of getting HT is

Probability = Number of ways a specific event can occur

Number of total possible outcomes



4. What is a Punnett Square? 4. Punnett squares illustrate genetic crosses

e A square is a system for
predicting the possible of
offspring resulting from a cross.
o The axes represent the possible

of each parent.
o The boxes show the possible

of the offspring
e The Punnett square yields the of
possible genotypes and
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5. A monchybrid cross involves one trait
5. What is a monohybrid cross?

. crosses examine the
Example 1 inheritance of only one specific trait
: Fomorygous , e Example 1:
% dominant parent
o female is homozygous dominant (___ )
o male is homozygous recessive ( )
homozygous -
recessive parent —_X___
e Results

o The possible Genotypes — all

(—_)

o Possible Phenotypes —

Example 2
heterozygous * Example 2
parent (Ff) o Parents:Heterozygous (__ _ ) xhybrid (___ )
f o What is the ratio of the possible offispring’s
heterozygous genotypes?
parent (Ff) . - . or

25% FF, 50% Ff, and 25% ff
o What is the ratio of the possible offspring’s
phenotypes?

* ___purple:___ white or 75% purple and
25% white




6. What is a testcross? 6. Testcross

= homozygous e A is a cross between an
, recessive parent (ff) organism with an unknown genotype and an
organism with the phenotype

e Cross an unknown genotype purple parent (F__ )
and white parent (ff)

heterozygous
parent (Ff)
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2 What is a dihvbrid 5 7. Dihybrid cross — A cross that involves two traits
. What is a dihybrid cross:

y ¢ Mendel’s dihybrid crosses with heterozygous

plantsyieldeda ___:

ratio

: ___phenotypic

F1 generation

e Mendel’s dihybrid crosses led to his second law,
the law of

¢ The law of independent assortment states that
allele pairs separate independently of each other
during meiosis

¥ Tdvo ofvet hrh}lbngr// noxd
eller prcbie ot wonhybri

' Heterozygous (YyRr} diploid
cell from a plant with round
yelow seeds

Prophase it

Metaphase i

Anaphase I
Telophase it

Possible haploid g
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Dihybrid Cross
Example: AaBb x AAbb
Step 1: FOIL out the Alleles

2. DA secla
3 Thnsects

Parent 1 Allele

First (1) = AB
Outside (2) =Ab g\ WMelke Weore
Inside (3) = aB His, vemove Lelles. Cleer™ o/ 4k 's
Last (4) = ab
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Parent 2 Allele

First (1) = ¢ |
Outside (2) = % H“ ve S)cu ’
Inside (3) = 'C\@()\f& OU‘\> O(Cspvmg

Last (4) = -1@ W;Ou )Q'C\xas alley X (s ore wrdblen

Trait Parent 1 V/ Parent 1 Parent 1 Parent 1
Allele Allele Allele Allele

Parent 2
Allele

Parent 2
Allele

Parent 2
Allele

Parent 2
Allele
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